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REGISTRATION NUMBER : 7201703521
EXAM DATE : 29-August-2016

EXAM NAME : SSC Examination 2016
TOTAL MARKS : 200

Question 1.Select the related word/letters/number from the given alternatives.

&2 I farehedt & & Hafeer Yree 31aR/&Ear i gfaT
FUNGI: MYCOLOGY:: TISSUE: ??

Wzmﬁﬂm 1 3de: ?
Options:

1) Haematology

ECRICE o

2) Cytology
FIfRARITaAA

3) Histology
EREICK G
4) Bacteriology

S
Correct Answer: Histology

EREICEIGE

Candidate Answer: Cytology
FIfRARITE A

Question 2.Select the related word/letters/number from the given alternatives.

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
BDFH : YWUS :: JLNP : ?

Options:

1) QOMK

2) ACEF

3) ZXUT

4) UVWX
Correct Answer: QOMK
Candidate Answer: QOMK

Question 3.Select the related word/letters/number from the given alternatives.

3 1 ol & @ Haferd eree) 3R/ aedr # g
18:30::36:7

Options:

1) 78

2) 64

3) 66

4) 68
Correct Answer: 66
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

few 17 faehodt & & fawe ereey HET1/ 3ER/7A T
Options:

1) Arithmetic

kicTirc

2) Mathematics

afora

3) Geometry

ST

4) Algebra

SO

Correct Answer: Mathematics

afora

Candidate Answer: Arithmetic

3ITfoIT

Question 5.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

T 10 faehodt & & fawe eeey HET1/ 38R/7A g0

Options:
1) ACEG

2) BDFG
3) JLNP

4) SUWY
Correct Answer: BDFG
Candidate Answer: JLNP

Question 6.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

U 1w fashed & & Tawe eree) TE&a/ 31R/g7H giaw|

Options:
1) 16, 32

2) 20, 40
3) 64, 81

4) 81, 162
Correct Answer: 64, 81
Candidate Answer: 20, 40

Question 7.Arrange the following words as per order in the dictionary

TAFATATT Usel T eAseehier 3 feT 1T A & TR @]
1. Weather 2. Weasand 3. Wealth 4. Weapon 5. Weekend
Options:

1)3,2,4,1,5
2)3,2,1,4,5
3)3,4,2,1,5

4)3,4,1,2,5
Correct Answer: 3,4,2,1,5



Candidate Answer: 3,4,2,1,5

Question 8.Choose the correct alternative from the given ones that will complete the series

Teu 97T fashedt 7 & a8 T fashed YA S 3egshd I T |
BFK, KOT, UYD,?

Options:

1) BFJ

2) ADG

3) FIO

4) PSX
Correct Answer: FJO
Candidate Answer: [ NOT ANSWERED ]

Question 9.Find the missing number in the series

& 918 Ao A o v AT RS |
2,3, 8,7, 112, 565

Options:

1) 565

2)112

3)27

4)8
Correct Answer: 27
Candidate Answer: 27

Question 10.A woman pointing to a man said, "He is the widower of my uncle's brother's daughter." How is the man related to the woman?

U TG Teh HTEHT Y 3T SRT A §T Fegel ¢ foh "ag AR =1 o 8715 Y 91 7 fAER &1 a5 el 38 AR A 757 JohR Fofoerd § ?

Options:
1) Brother-in-law

e

2) Brother

HISS

3) Uncle

BB

4) Nephew

AT/ HATT

Correct Answer: Brother-in-law
e

Candidate Answer: Brother-in-law

Croic

Question 11.P, Q, R and S are four friends. P is shorter than Q but taller than R who is shorter than S. Who is the shortest among all?

P,QR, 3R S ar fA7 §1 & 7 P,Q ¥ Bier § AftheT R § olaT § 3 S & OIer &1 373 o BT it § ?

Options:
1)P

2)Q
3)R

4)S
Correct Answer: R
Candidate Answer: [ NOT ANSWERED ]

Question 12.From the given alternative words, select the word which cannot be formed using the letter of the given word.

Arafaf@a fewedt & & a5 oee giAw St faw 10 eree & 31eRT &1 2T &% 761 ST ST HehelT|
IMPRACTICABLE

Options:
1) CAPABLE

2) PARTICLE
3) PRACTICAL

4) PEACE
Correct Answer: PEACE



Candidate Answer: PEACE

Question 13.If BROTHER is coded as GWTYMJW, then SCHOOL is coded as

Ife Ueh s & 'BROTHER' & 'GWTYMIW ' forar ST &, aY 33 s 3 'SCHOOL' &Y T forar simem ?

Options:
1) WGLSSP

2) WGLSSQ
3) XHMTTQ

4) XHMTTP
Correct Answer: XHMTTQ
Candidate Answer: XHMTTQ

Question 14.If '+' means subtraction, '+' means addition, '<' means multiplication and '>' means division, then find the value of the given statement,
The value of 9 + 7 < 8 > (4>2) + 5 will be

IfE '+ T AT § T, '+ T AT § S5, '<' &M FATeld § I[ON IR '>' & ATl § AT, Y S Tereled T AT HAlel BT |
9+7<8>(4>2)+5

Options:

1) 32

2) 18

3) 16

4) 11
Correct Answer: 32
Candidate Answer: 32

Question 15.If 5 * 3 = 19 and 8 * 5 = 49, then what should 6 * 4 be?

JiE5 * 3 =19 31 8 * 5 = 49, AV 6 * 4 FAT g=AT AT ?

Options:
1) 24

2) 28
3)18

4) 16
Correct Answer: 28
Candidate Answer: [ NOT ANSWERED ]

Question 16.Select the missing number from the given responses.

rAfaf@a veat & U 3repra 3 aran B, forast ves wean ovd ¥ o 1e Rehedt 7 & 38 weet araes &g & T W Y Seal oo faf@)

24 20 36
15 11 18
55 40 ?

Options:

1) 45

2) 65

3)70

4) 80

Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

Question 17.A man walks 7 km towards south and turns to the left. After walking 5 km, he turns to the right and walks 7 km. In which direction is he now from the
starting point?

U 3T 7 R0, FEIoT 1 3T S § 3R ¢ Hg ST 815 AL Teit & 1e 9 &l Hsar § 3R 7 TR IeiaT §1 31 98 TRTEH g @ e fevm A7 @7



Options:

1) West

qfegs

2) South

gfaor

3) South-East

SRR

4) North-East

SeeR-qd

Correct Answer: South-East
afEoTad

Candidate Answer: South-East

R

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement 1: When water is cooled, it turns into ice.

Statement 2: When water is heated, it turns into steam.

Conclusion I: Water is a solid.

Conclusion II: Water is a gas.

AR YR & T IT & ey ¥ 7 &, foraeh 3T &Y foseh/Agang, 1 3R 11 errer 3 & 3m9en! faaR el § T a9Faed TcT § I8 98 T d: o a2 &
et I 1A &Yl 3TIeh! FAoTT aaT & o U 71T aeFdey & @ i-a1 Afvaa &7 & ag [/ A=adr [ 5 Tehar § ?
FFIST 1 ;519 TNt SUST gIcT § I 98 9% # seol ST &1

TFdSH 2 1 ST Tt BT IR foRaT ST § Y I T H STl ST 8|

Aol 1 ST I

Ao 2 S TR

Options:

1) Only Conclusion I follows

el sy I T ¥

2) Only Conclusion II follows

el frsey 11 T8 B

3) Both I and II follow

sy [ 3R 11 St T 81

4) Neither I nor II follows

A8 ARy 3R A S TR

Correct Answer: Neither I nor II follows

7 & ARy [ 3R T & 11 Ter gl

Candidate Answer: Neither I nor II follows

& ARy [ 3R T & 11 Ter gl

Question 19.What is total number of triangles in the given figure?

ey & 378 3Tl A el Thctel FehioT  ?
\\ I"
7
| d
A
T ]
Pl
A N
d, \s
N
Options:
1) 16
2)32
3) 40
4)12

Correct Answer: 16
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below
Men, Rodents and living beings

qF 3N AT S o7 few 21w gt & offer woitr & |gT waoT & 1
FSF, 79, 3R SF-3eq]



Options:
1)

A
A=)
WS

=t
N

—

2)

rTh

M,
r.—h
N

3)

D

T AN
L

4)

)

|
_—

Rl

Question 21.Which answer figure will complete the pattern in the question figure?

oA Sccl- 3Tl TeT-3Thell oh TTTET i T A ?

=/ s 24 p\S
By | A

?

(]




Options:

1)
2)
U
P
AN
. e
3)
4)
N
gl
By | (A
Correct Answer:
=
| (7
Candidate Answer:
=
| (7

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& a1 Seal 3Tl # A 39 i A gRAT Forasd geat i ARa & 1



Options:

1)
2)
3)
7ER
4)
Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened

oA et 3Tt 7 o THR FreTsl T ASH FIeat AT Wielet & F1G 8 v Scal 3Pl ot f@rs & ?

I I
I |
I I
~
N I [¢] I
< 2% ] ,
~ 4 [+] (o]

b

X




Options:

1)
O Q
) o)
2)
. -
e o O
To) l
| [®
o O |
3)
O @
{5 C.
4)
O O O
O
QO O
Correct Answer:
~ =
e o Q|
(o) J
[®
o O |
Candidate Answer:
. -
e o (o1
0 |
(@
o1 to ]

Question 24.If a mirror is placed on the line MN, then which of the answer figure is the right image?

I weh gYuT T MN X@T OR T@T 1T 6l & 31§ Seaik AThfcrdl & & Hlerell 3epfct seat 3mepfer ohr @l vy ghafr 2

"

P

L
. .

SR BN R




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




Question 25.1In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A from these matrices can be represented first by its row and next by its column. e.g. N can be represented by 01, 14 etc. and A can be
represented by 55, 69, etc. You have to identify the set for the word ‘GOOD".

RrIfafld yeet 7 Rered! 7 RRU a0 wear-wg, 318RT F & a9if garT grifv ¢ §, oha B & fgw are & smeggh # €1 3meyp [ & wasw AR dfda M aear 0 d 4 a& &
TE Y, I TG 11 & 5 F 9 A, ST MTeYgl & Teh 3R Y Tgel 3T 4T 3T o1 3 Tio97 TEAT Z@RT aRfiam ST FehalT &1 3eTe<or & fIw 'N' Y 04, 14 3 g@R a=fam
ST HHAT & TFUT'A' Y 55, 69 3HTTe; GERT ERMAT ST Hehell | HTTRT fT §T 2leq; 'GOOD' & 1T FHog Y Tgaiieietl ¢

Matrix-1 Matrix-1l

o 1 2 3| 4 5 6] 7 8 9
0 Bl Nl G L D 5 A Il K O R
i G| L Dl B| N 6 Il K|l 0 R A
2l Dl Bl N| G| L 7| Kl O R| Al |
3] N[l G| L] Dl B 8 O R| Al Il K
4 Ll D| Bl N| G 9 R| A Il K O

Options:

1) 02, 58, 68, 04
2) 44, 99, 76, 20
3) 31, 67,76, 22

4) 33, 76, 86, 41
Correct Answer: 44, 99, 76, 20
Candidate Answer: 44, 99, 76, 20

Question 26.Among the following States, has the lowest birth rate in India.

R 7 ATl Ueat 7 & frg To3r 7 STedl-aX ~ge1an & ?
Options:

1) Kerala

HTeT

2) Uttar Pradesh

3cd TeRT

3) Bihar

fagR

4) West Bengal

qfegs semer

Correct Answer: Kerala

Err

Candidate Answer: Kerala
el

Question 27.The Secretariat of SAARC is set up at

ek 1 aRaTer Fel Rua § 2
Options:

1) Washington

FifRIeTesT

2) Kathmandu

HIGHTE

3) Hague

g

4) New Delhi

GERCCC

Correct Answer: Kathmandu
FISHZ

LN

Candidate Answer: [ NOT ANSWERED ]

Question 28.The outermost range of Himalays is called

RATerT S Ty STEdT gae Aol HiT W 2



Options:

1) Kali

Eary

2) Shiwaliks
[RELEED

3) Dehradun

CETeg

4) Kumaon

HHTS

]
Correct Answer: Shiwaliks
Rrarfors

Candidate Answer: [ NOT ANSWERED ]

Question 29.Who is generally considered to be the father of the Indian Renaissance?

A : R AR JoTSIROT T SieTeh FITT ST & ?
Options:

1) Rabindranath Tagore

g e a1

2) Raja Rammohan Roy

ST THAR T

3) Mahatma Phule

HETCHT Pl

4) M.G. Ranade

TH. ST, 18

Correct Answer: Raja Rammohan Roy
TS TAART T
Candidate Answer: [ NOT ANSWERED ]

Question 30.The longest river of peninsular India is

IR IR Y T o A AT A ?
Options:

1) Narmada

ater

2) Godavari

Merasr

3) Mahanadi

A
4) Cauvery

Fay

Correct Answer: Godavari
IMerar

Candidate Answer: Godavari

Feradr

Question 31. gives hardness to stainless steel.

rrfaf@a # & fFaw ®eTord Thel 7 FoRdT 3T & ?
Options:

1) Zinc

IEED

2) Lead

arar

3) Carbon

FIeeT

4) Tin

o=

Correct Answer: Carbon

T
Candidate Answer: [ NOT ANSWERED ]

Question 32.Which of the following is responsible for transport of food and other substances in plants?

frAfafad 7 o e dielt & @rer e 3iR 377 dcal &1 a8 T & ?



Options:

1) Xylem

TS

2) Phloem

AT (ANYATE)

3) Chloroplast

FeIRITaRT

4) None of these

ST A IS AT

Correct Answer: Phloem

FATH (W9dTE)
Candidate Answer: [ NOT ANSWERED ]

Question 33.The washing machine works on the principle of

F93 e Hr 7R Fore Rged R S et & 2
Options:

1) Dialysis

g

2) Diffusion

faeRor

3) Reverse osmosis

3cshH AT

4) Centrifugation

HTSFTGIRIOT

Correct Answer: Centrifugation
HYSFTGIRIOT

Candidate Answer: Centrifugation

3qFrGIeRToT

Question 34.Which is not an external storage device?

rfaf@a # & i O 928 TR Basw (aeg HusRT I+7) 761§ ?
Options:

1) CD-ROM

@ g - A

2) DVD-ROM

A H-A7

3) Pen Drive

A< gi5a

4) RAM

kez

Correct Answer: RAM
ko2

Candidate Answer: RAM
ko2

Question 35.Which of the following is the correct description of the term sex-ratio as used in the context of the census of population?

STTEEAT T STAITOTAT o FG3T 7 ' TolaT IeTuTeT ! 21 &7 WgT 37T AT § 2
Options:

1) Number of males per 1000 females.

1000 &gt oX Rt 1 Hear

2) Number of females per 1000 males.

1000 &St oX HAfgemit S Tear

3) Number of females per 100 males.

100 &St 9X Afgen3iT H FEAT

4) Number of females in a sample of 1000 persons.

1000 =it & wfeeet & afyarsit #r dear

Correct Answer: Number of females per 1000 males.
1000 &St 9X Afgremit Hr dEar

Candidate Answer: Number of females per 1000 males.
1000 &St 9X Afgemsit Fr dEar

Question 36.The atomic power station in Rajasthan is situated at:

TSRS 3 "I faegd S’ el e § 2



Options:
1) Pokhran
&R
2) Suratgarh
TG
3) Rawatbhata
RICRE I
4) Chittorgarh
aC 3 IS 96
Correct Answer: Rawatbhata
RCGEIE
Candidate Answer: Rawatbhata
RCGEIE

Question 37.The Sahitya Akademi Awards are given for best writings in how many Indian languages?

Tectel SRl Sw13HT # Halfed® oieal o fov Hifgedr e REhr few oid & ?

Options:
1) 12

2) 15
3)20

4) 24
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]

Question 38.Right to Privacy comes under

Torstar &1 3RIeR fhaeh 31efT 3mar g ?
Options:

1) Article 19

3eleq 19

2) Article 20

370 20

3) Article 21

T 21

4) Article 18

I 18

Correct Answer: Article 21
Hefeoe 21

Candidate Answer: Article 21

3TesE 21

Question 39.The foreign traveller who visited India during the reign of Shahjahan was

QMESTET & QAT el & hieT a1 fagel Ay 7R 3T T ?
Options:

1) Thomas Roe

oAfFE

2) William Hawkins

fafeas gifhea

3) Ibn Batuta

gt el

4) Manucci

FHeJaent

2
Correct Answer: Manucci

FeAahT

9
Candidate Answer: William Hawkins

Faferas gt

Question 40.The GST (Goods and Services Tax), recently passed by Government will be levied on which of the following products?

THR EART Tl &7 7 91 Fomam ar Sft, v, &1, e (A 3R dar ) Fe=faf@a & § ff 3eurel o s e ?



Options:

1) Petroleum Crude
RICRE R ILE T

2) Tobacco

qaEg

3) Natural Gas

e

4) Aviation Turbine Fuel
QAT calgeT S
Correct Answer: Tobacco
RESIEY

[N

Candidate Answer: [ NOT ANSWERED ]

Question 41.Who was elected the Prime Minister of Nepal recently?

BT €1 3 et AUTeT & et A ¥ 97 ?
Options:

1) Keshav Kumar Budhathoki

T FAR Jgolh!

2) Khadga Prasad Sharma Koli

WS TG AAT el

3) Sushil Koirala

TR hIgrel

4) Pushpakamal Dahal 'Prachanda’

TW A ETglel 'gdus’

Correct Answer: Pushpakamal Dahal 'Prachanda’
TW A Elglel 'gdIus’

Candidate Answer: [ NOT ANSWERED ]

Question 42.Which lobe of human brain is associated with hearing?

AT AfSTSH &I T T wifer sgor @ Tl § 2
Options:

1) Frontal lobe

37relee aTfer

2) Parietal lobe

fafcas aifer

3) Temporal lobe

o grfer

4) Occipital lobe

3fegehTer difel

Correct Answer: Temporal lobe

o grfer

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following is not soluble in water?

T daFraad gefaelier qETE?
Options:

1) Lead sulphate

g Tthe

2) Zinc sulphate

ol Fethe

3) Potassium sulphate

el aethe

4) Sodium sulphate

afsTa Tethe

Correct Answer: Lead sulphate
5 Tothe

Candidate Answer: Lead sulphate
oS Tthe

Question 44.Activated Charcoal is used to remove colouring matter from pure substances by

forfaf@e & & fhe gamT Afshar HISHITE P T HIA §U g deal H & Toteh Ferelf &1 gy fHar siar g ?



Options:

1) Bleaching

et

2) Oxidation

EEERCE

3) Adsorption

JifRreioT

4) Reduction

e gicauy

Correct Answer: Adsorption
JifereioT

Candidate Answer: Oxidation

EsERC)

Question 45.Chernobyl disaster is the result of pollution by

TeAforet HgIaTer e TGOt T IR § ?
Options:

1) Oil spill

o aa

2) Acid rain

3FeT quT

3) Carbon dioxide

FIT SFIFAZS

4) Radioactive waste

RER IS SRS

Correct Answer: Radioactive waste

et 3mfe
Candidate Answer: [ NOT ANSWERED ]

Question 46.Which of the following caused radioactive pollution along the coast of Kerala?

el T X Yf3ATlFed Jguor fArAfaf@d 7 & foha wror § g3 ?
Options:

1) Plutonium

e

2) Zinc

STEAT

3) Thorium

St

4) Radium

FyEpE ]

Correct Answer: Thorium

MR
Candidate Answer: [ NOT ANSWERED ]

Question 47.In mammals, an important role of excretion is played by

AT H 3cqe1 1 T Hgeaqul w1 frafaf@a # @ i a1 sage axarg ?
Options:

1) Large intestine

EEEIC

2) Kidneys

T (IFF)

3) Lungs

L

4) Liver

TSR (Tehd)

Correct Answer: Kidneys
I ()

Candidate Answer: Kidneys
& (FF)

Question 48.The second Green Revolution aims at increasing agricultural output to promote

fachr e wifea @ seed, etfof@a # & fra S e frgfe @ weafeua § 2



Options:

1) Availability of easy credit to big farmers
S TRl T GorsT ST T Seletram

2) Co-operative farming

HEHRT Wt

3) Inclusive growth

Ieafdwe gfe

4) Development of rural sector

THOT 817 T T

Correct Answer: Inclusive growth
Jedfdve gfg

Candidate Answer: [ NOT ANSWERED ]

Question 49.Which of the following causes rainfall during winters in the north-western part of India?

IR & 3ca - TR oeT & efcerrel F Rafaf@a # @ fFg FRoT A asT eI & ?
Options:

1) Western disturbances

gfeear fasier

2) Cyclonic depression

BECIGIKICECH

3) Southwest monsoon

gTaroT afResd AT

4) Retreating monsoon

[EEREIK GriCH

Correct Answer: Western disturbances

qfeear fasisr
Candidate Answer: [ NOT ANSWERED ]

Question 50.The 'Blue Water Policy' was introduced by the Portugese leader

FleT F AN 1T o ' S aTeX Tifodr g% & o ?
Options:

1) Franscisco-de-Almeida

I FrEenT-8T- 3TeHeT

2) Alfonso de Albuguerque

TCTRIET ST Uegehieh

3) Francis Caron

IR &t

4) Francis Martin

Wi Afee

Correct Answer: Franscisco-de-Almeida
I TrEeRT-8T- 31 st

Candidate Answer: [ NOT ANSWERED ]

Question 51.If the sum of a number and its reciprocal be 2, then the number is

I veh TEAT 3R 36 cgcoha T FNT 2 8, ol I8 TEAT fehcta it g ?

Options:
1)0

2)1
3)-1

4)2
Correct Answer: 1
Candidate Answer: 1

Question 52.The area of a rectangle in 60 cm? and its perimeter is 34 cm, then the length of the diagonal is

Tk 31T ST &1Fthel 60 ToT T3, & 3R 3T aR&AT 34 A7, &1 O 3T Aol 6t orars e gl ?
Options:

1) 17cm

17 7.

2) 11cm

1133

3) 15cm

15 @,

4) 13cm

13 3.7



Correct Answer: 13cm

13 8.4

Candidate Answer: 13cm

13 8.4

Question 53.A cloth merchant has announced 25% rebate in prices. If one needs to have a rebate of (1 40, then how many metres of cloth costing (1 32 per metre he
should purchase.

T FHIST-SATIRT ¥ 31T BT 3 25% TT T TN H, TERTAR TS AT T (1 40 i Fe ol g, af 37 0 32 9f Fiey arel 3 a7 feter e st Tliea giam ?
Options:

1) 6m

6 7.

2) 5m

5 &

3) 10m

10 7.

4) 7m

7 A

Correct Answer: 5m
5

Candidate Answer: [ NOT ANSWERED ]

Question 54.A profit of Rs. 960 is divided between A and B in the ratio 1/3:1/2. The difference of their profit is :

Rs. 960 & ST &1 A 7T B & 1/3:1/5 & 3FeIdTcl & SieT 31T §| Sefeh oliedl T 3Tecid 2T g ?

Options:
1) Rs.120

2) Rs.160
3) Rs.180

4) Rs.240
Correct Answer: Rs.240
Candidate Answer: [ NOT ANSWERED ]

Question 55.The average monthly salary of 19 members of a group is Rs. 16000. If one more members whose monthly salary is Rs. 20000 has joined the group, then
the average salary of the group is

19 HeEdT & e 9 1 e A ddeT Rs. 16000 F1 & I 30 9 F Rs, 20000 A AT FTell Ueh 3T Herd o e 81 ST, Y 39 9 7 e AfdF dae
TeheteT gt SiTwer ?

Options:
1) Rs.18250

2) Rs.16200
3) Rs.18000

4) Rs.16250
Correct Answer: Rs.16200
Candidate Answer: [ NOT ANSWERED ]

Question 56.A T.V was sold at a profit of 5% If it had been sold at a profit of 10% , the profit would have been Rs. 1000 more. What is its cost price ?

Te &, Y. 5% ST 9T =T I1AT| T S/ 10% ST O ST AT ¥ Rs. 1000 7 3T of1eT gielT| IHA! H-Hed TRV ?

Options:
1) Rs.20000

2) Rs.5000
3) Rs.10000

4) Rs.15000
Correct Answer: Rs.20000
Candidate Answer: [ NOT ANSWERED ]

Question 57.The price of an article is decreased by 10%. To restore it to its former value, the new price must be increased by :

TRl I & e 7 10% 1l Y I § | 58 WA 7T W ol & v 72 a7 & et gfigy et ghefr 2



Options:
1)

9L o
11"
2) 10%
3) 11%
4)
1129
9 (1]

Correct Answer:

11 : %
9 0
Candidate Answer: [ NOT ANSWERED ]

Question 58.A moving train passes a platform 50m long in 14 seconds and a lamp post in 10 seconds. The speed of the train (in km/h) is :

wmgémmsommwmaﬁ 14 TFUs F 3R T fasTell & GFA AT 10 hvs H IR ! & | Ter@msT 1 arer (.. /gen) A Farg ?
Options:

1) 24

2) 36

3) 40

4) 45
Correct Answer: 45
Candidate Answer: [ NOT ANSWERED ]

Question 59.If x2 + 1/x2 = 2, then the value of x - 1/x is

Il x2 + 1/x2 = 2 g, Arx - 1/X &l AT 18T ?
Options:

1) -2

2)0

3)1

4)-1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1
Ifpg (p +q) = L, Then the value of ———p3 —qiisequal to
pq

T pq (p+4q) =1ET,H’F$—¢13—@3HWWW

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 61.A chord of length 16 cm is drawn in a circle of radius 10 cm. The distance of the chord from the centre of the circle is

16 WA, oIl T Siar 1 10 9.2, BT arel good 7 Tiar ST §| ool & heg & SiaT i gl aaisy ?
Options:

1) 8cm

8 |.A.

2) 6cm

6 T3

3) 4cm

437

4) 12cm

12 9.7



Correct Answer: 6cm

6?4
Candidate Answer: [ NOT ANSWERED ]

Question 62.An angle in a semicircle is

TRl 3refgect # I0T Tt gYam ?

Options:
1) 45°

2) 60°
3) 90°

4) 120°
Correct Answer: 90°
Candidate Answer: 90°

Question 63.If x = a cosf+ b sinB and y = b cosB- a sinB, then X2 + y2 is equal to

& x = a cosB+ b sind 3y = b cosh- a sind &, AT x2 + y2 &I HeT 4T g ?

Options:
1) ab

2) a2+bh2
3) a2-b?

4)1
Correct Answer: a2+b?2
Candidate Answer: aZ+b?

Question 64.A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. what will be the share of A in this amount of
money ?

A T Fd T 12 f&eT 7 O X el § T B 38 15 ot 3 U &Y Thall 1 I 38 Uah A S Rs. 450 3 Fdel AR 81 S & | 39 L1ty 37 A &7 e forctet glem

?

Options:
1) Rs.200

2) Rs.240
3) Rs.250

4) Rs.300
Correct Answer: Rs.250
Candidate Answer: [ NOT ANSWERED ]

Question 65.If x = v2+1, then the value of x*-1/x%is

FfE x = vV2+1 &), ar x*-1/x* &1 AT e g ?

Options:
1) 8v2

2) 182
3) 6v2

4) 242
Correct Answer: 24v/2
Candidate Answer: [ NOT ANSWERED ]

Question 66.If 9x% + 16y = 60 and 3x + 4y = 6, then the value of xy is

i 9x2 + 16y2 = 60 31T 3x + 4y = 6 &, &Y xy T AT AT G ?

Options:
1)-1

3)-2

4)2
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]



Question 67.If in AABC, DE ||BC, AB = 7.5cm, BD = 6cm and DE = 2cm, then the length of BC in cm is :

3Ife AABC, DE ||BC, AB = 7.59.7., BD = 6&.7. 31X DE = 2&.#7. &1, Y BC Fr oewrs Q.70 F Far giafy ?
Options:

1)6

2)8

3) 10

4) 10.5
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

Question 68.Suppose that the medians BD, CE and AF of a triangle ABC meet at G. Then AG: GF is

AT NS o TRl ABC fiehioT st #IfEg =Y BD, CE 3R AF fSwg G oX [&eiclY €1 T AG: GF =T gim ?
Options:

1) 1:2

2)2:1

3)1:3

4) 2:3

Correct Answer: 2:1

Candidate Answer: 2:1

Question 69.
cos@ cos@

+ =4
3 —sing " 1+ sin6 then

the value of 6 (0<8<90°) is

ofy 088 4 0S8 = 4 or g 0e< @ < 90°) FT AT AT ?

1- sin# 1+ sin@

Options:
1) 60°

2) 45°
3) 30°

4) 35°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

Question 70.A sum of Rs. 2000 amounts to Rs. 4000 in two years at compound interest. In how many years does the same amount becomes Rs. 8000.

Rs. 2000 T Uy whg & sarer uX 2 a9 # Rs, 4000 g Sircir &1 @ TRy fhcier awf #F Rs, 8000 gr Swrwafr ?

Options:
1)2

2) 4
3)6

4)8
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 71.Two ships are sailing in the sea on the two sides of a light house. The angle of elevation of the top of the light house as observed from the two ships are
30° and 45° respectively. If the light house is 100m high, the distance between the two ships is :(take V3=1.73)

THeS H &l I YeHRT FI9 & QAT Y Tl 7§ & | It Il 8 SWel IR Tehrer st o S & Seotaied HIoT Smaer: 30° 31X 45° &1 AT reprer wier 100 Hex S g, ar St drat
& o1 &1 gy 9T ? (a's'ﬂm?‘rgtrﬁh/3=1.73)
Options:

1) 173m

1734

2) 200m

200 .

3) 273m

273 7.

4) 300m

3003,

Correct Answer: 273m
273 7.



Candidate Answer: [ NOT ANSWERED ]

Question 72.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

TRl 3mepfer 71 el shietst 7 af 2000 & o 2004 T Iy a¥ #7cft gT AR el g S A TEAT (FoiR 7 ) &Rl 1 &1 HMHTT A7 T HT 7= & Iea}k
CUEI

W Adasnted

8 preedul
T 10

2002 2003 2004
vear %

The percent increase in the number of students admitted in the year 2003 over that in 2001 is

¥ 2001 T o1 # TY 2003  #7cHT gU ST HT HEAT H g$ e R e & ?

Options:
1) 133.3

2)333
3) 40.3

4) 66.7
Correct Answer: 33.3
Candidate Answer: [ NOT ANSWERED ]

Question 73.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

ﬁmﬁ@aa@ﬁrﬁﬁm’raﬁaaﬁm‘rzooo#aﬁzomaa:ﬁa&aﬁgvaﬂu&ﬂﬁgumﬁﬁdw(mﬁ)a&frd‘m‘é’%lmemmﬁ*w
Qfaw ?

W Admitied

B prisedoul

2002 2003 2004
2000 2001 Year ;

During 2000 to 2003, the ratio of the total number fo the students passed out to the total number of students admitted is

a¥ 2000 & 2003 ﬁﬂﬁg@mﬁ@rgﬁﬁwmﬁﬁgaﬁiﬁgﬁrmﬂﬁmmﬁﬁv ?
Options:

1) 17/23

2) 17/6

3)11/23

4)5/7

Correct Answer: 5/7

Candidate Answer: 5/7



Question 74.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

ATl 3mepfer 21 Rl ietst & a¥ 2000 & I 2004 T 9T IF #7clf gT AR el g ST Ay TEAT (FolR A ) eRA I F1 IMHTA HT IETTA FT T=A & 3ec}
afse ?

W Adasnted

2002 2003 2004

Year —N

In which of the two years, the pass percentage of students was between 60 to 70 ?

HA-T & It & BET A Scciot gfaerad 60 & 70 & S o ?
Options:

1) 2000 and 2001

2000 31 2001

2) 2003 and 2004

2003 3t 2004

3) 2001 and 2002

2001 31 2002

4) none of these

SoTH A IS AET

Correct Answer: 2000 and 2001
2000 31k 2001

Candidate Answer: 2003 and 2004
2003 31X 2004

Question 75.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the
figure and answer the questions.

forfaf@re 3mepfer #1 il hicrst 3 af 2000 A G 2004 Feh Gfel o #1clf g 3R Secliot g ST 61 FEaT (FoR 3 ) ZRMR 7 ¥ HTpet 1 HETTA T TReAT % Ik
afsw ?

W Adasnted

2002 2003 2004
2000 2001 Year ;

The ratio of the number of students admitted in the year 2002 to the average of the number of students passed out in the years 2003 and 2004. is

a’n‘rzoozﬁaﬁﬁgtrwﬁﬁﬂwsﬂ?a\i 2003 T 2004 ﬁW@mﬁﬁﬂW%%ﬂmw?

Options:
1)7:8

2) 8:9
3)9:8

4)8:7
Correct Answer: 8:9
Candidate Answer: 8:9



Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

REVILE

Options:

1) REVIVE

2) REVIEW

3) ABUSE

4) REVEAL

Correct Answer: ABUSE

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

SQUANDER

Options:

1) SPEND

2) REDUCE

3) SLANDER

4) SKIMP

Correct Answer: SKIMP

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Sanctaries

2) Sanctauries

3) Santuaries

4) Sanctuaries

Correct Answer: Sanctuaries

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

He had already sent me message (A) / that his arrival (B) / was scheduled for Thursday (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

Science and technology and (A) / their fallouts do not (B) / complete human culture (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

The angry bird flap (A) / her wings, flies a short (B) / distance and returns. (C) / No error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The clock has for want of winding.
Options:

1) run down

2) run short

3) run past

4) run up

Correct Answer: run down



Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Few people know that flowers use textures to different kinds of insects.
Options:

1) signal

2) feel

3) attract

4) distract

Correct Answer: attract

Candidate Answer: [ NOT ANSWERED ]

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

They abandoned their comrades the wolves.
Options:

1) by

2) between

3)on

4) among

Correct Answer: among

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

For keeps

Options:

1) Himself

2) Away

3) Forever

4) Hid

Correct Answer: Forever

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pale into insignificance

Options:

1) Seemed less important

2) Was less exciting

3) Was less hectic

4) Was dull and pale

Correct Answer: Seemed less important

Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

With one voice
Options:

1) By one man

2) By one community
3) Unanimously

4) In disharmony

Correct Answer: Unanimously
Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Drug which causes people to sleep easily
Options:

1) Poppy

2) Soporific

3) Beguile

4) Pedant

Correct Answer: Soporific
Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The branch of philosophy concerned with the study of the principles of beauty, especially in art



Options:

1) Artistic

2) Aesthetics

3) Ethics

4) Metaphysics

Correct Answer: Aesthetics
Candidate Answer: Artistic

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The study of skin

Options:

1) Dermatology

2) Dermatoglyphics

3) Stratigraphy

4) Oncology

Correct Answer: Dermatology

Candidate Answer: Dermatology

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

She has that rare character - the ability to listen to people.
Options:

1) rare ear

2) rare characteristic

3) rare sense

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

Both of them have not apologized yet.
Options:

1) Neither of them has

2) Any of them have

3) None of the two

4) No improvement

Correct Answer: Neither of them has

Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

The greater the demand, higher the price.
Options:

1) the high

2) a higher

3) the higher

4) No improvement

Correct Answer: the higher

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

His appointment as coach is yet another feather in his wing.
Options:

1) feather in his hat

2) badge in his hat

3) feather in his cap

4) No improvement

Correct Answer: feather in his cap

Candidate Answer: [ NOT ANSWERED ]

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “"No improvement”.

The majority of the rain-fed Indian rivers, either dry up, or become trickle after the monsoon.
Options:

1) the trickle

2) a trickle

3) an trickle

4) No improvement

Correct Answer: a trickle

Candidate Answer: [ NOT ANSWERED ]




Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What are scientists doing?

Options:

1) Racing in labs and research centres around the world
2) Asking us to start dieting

3) Creating the perfect diet for us

4) Try and make us taller

Correct Answer: Creating the perfect diet for us
Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What does J. Bruce German say?

Options:

1) The food we like is not healthy for us

2) The food we like is the healthiest one for us
3) The most healthy food should be liked by us
4) Food scientists like healthy food

Correct Answer: The food we like is the healthiest one for us
Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What is genomics?

Options:

1) The science which describes about maps

2) The science which describes an individual

3) The science which deals with years

4) The science that maps and describes an individual's genetic code

Correct Answer: The science that maps and describes an individual's genetic code

Candidate Answer: [ NOT ANSWERED ]



Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

Why won't a common diet fit everybody?
Options:

1) Because different people eat different food
2) Because their genes are different

3) Since they differ in genetics and metabolism
4) Because of their different moods

Correct Answer: Since they differ in genetics and metabolism
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to
change all the time. But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each
of us, a diet that will fight disease, increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The
foods we like the most will be the most healthy for us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to
assess our own inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic
low-fat diet. You'll eat foods with just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what
foods you should eat at any given time, for any given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

What will be possible in the future?

Options:

1) Personalised DNA chips for people to assess their own inherited predispositions

2) You are at great risk for heart disease

3) You will not be able to determine what food you should eat

4) You will be unable to adjust your diet

Correct Answer: Personalised DNA chips for people to assess their own inherited predispositions

Candidate Answer: [ NOT ANSWERED ]



